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* FILE *fdopen()
* int fclose( )
* int fflush()
* size_t fwrite()

* size_tfread()
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Ol OH EI _9_ struct integerMessage {

uint8_t oneByte;
uintle_t twoBytes;
uint32_t fourBytes;

struct addressinfo { uinté4_t  eightBytes;
uintle_t streetAddress; %
intle_t aptNumber;
uint32_t postalCode; re) =
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struct integerMessage?2 {
uint8_t oneByte;
uint8_t padding;
uintle_t twoBytes;
uint32_t fourBytes;

uinté4_t eightBytes;
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* old-fashioned text
* ASCII
e CAHO{=ASCHO| =A IOl 7| 2 2 X}Al (basic character set)
H Al (C99 - 1S0646)
* “internationalizable” code
* (C99 extensions

 wchar_t (wide character) X| &

* size_t wecstombs( ) (wide character string to multibyte string)
* size_t mbstowcs( )
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* “internationalizable” code (A=)
* CO9O| M QAT BEAG| CHot HA[A X[O] & O| XS E[X]

oro
Lo O
« ZEHE0| A HO|Tt localel| 2t Fo| =l SFLEO| - =
=AtMIZ ol 8ot 7 (A A|ZH0| localeO| HA R = B F
S

- M2 LHE ZAHlE 28510 0|82 Y RO| §l=!

- 2hE HE /(20| B2 E]) & (ZAISHY Felg Al
* |ocale
* wcslen( ), weslen_[( ), wescpy( ), ...
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char string[strBuffSize];

send(sock, string, strBuffSize, 0)
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* Network byte order (Big-Endian)
- CtE HIO|EQ| K A[X| mtof EH=
- SAE HIO|E-EQ3 HIO|E Hzl st=
* htonl(), htons(), ntohl(), ntohs()

Little-Endian 0 0 92 246
23,798
Big-Endian | 246 92 0 0
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int data;

send(sock, &data, sizeof(data), 0)

* ‘short’, ‘long’, ‘double’, ‘char’ =




